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M. Com. (Final) EXAMINATION, 2020

(Compulsory)
Paper Second
ADVANCED COST ACCOUNTING ,
Time : Three Hours
Maximum Marks : 100
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~ Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.
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Define cost accounting. Discuss the significance of cost
accounting in brief. Also discuss the different methods of
cost accounting.
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Prepare store ledger account according to FIFO méthod

for the month of January from the following information
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January [ 1000 40 January 2 200
January
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January January
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The store verification report reveals that on 12th January

refund ‘of 40 units @ T 38 from a customer. On 13th

January 10 units are destroy and another shortage of
8 units on 27th January.
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A worker's wage for a guaranteed 48 hours week is ? 4_5
12381‘ l'four. The estimiated time 0 produffe one unit 35
=V Minuteg Under the incentive scheme time allowed is
oease by 10%, He produced 150 units, during a week.
Calculate the tota] wages under Halsey and Rowan bonus

plan.
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Usman Transport Co. operates 4 buses between two cities
which are 50 km apart. Capacity of each bus is 50
passengers but an average the bus runs 25% empty. All
the buses run on all the days of the month. Each bus
making a round trip each day. Following particulars of

expenditure are obtained from the books of company for
the month of April, 2019 :

. 4

Wages of drivers and conductors 4,800

Salaries to Office Staff : 2,000

Diesel, Oil etc. 6,000

" 3,600

Insurance and Road Tax 4.000

Depreciation T
Other Fixed Charges 4,000

Find out :

(@)  The cost per passenger kilometre.

(b) Busfaretobegliargedﬁomonecitytoanomcr
addingaproﬁtofSO%onoost.

Define uniform costing. Describe fully the advantagm and

limitations of uniform costing.
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A product passes through three processes A, B and C. The
normal wastage of each process is as follows :

Process A—3 pefcent, Process B—5 percent,
Process C—8 percent :
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Wastage of Process A was sold at 25 paise per unit, that
of Process B at 50 paise per unit and that of Process C at
¥ 1 per unit. 10000 units were issued to Process A in the
beginning of October, 2019, at cost of ¥ 1 per unit. The
following other expenses where as follows :

Process A | Process B | Process C
. () () (%)
Sundry Materials 1,000 1,500 500
| Labour 5,000 8,000 6,500
| Direct Expenses 1,050 - 1,188 2,009

%

Actual Output was :
Process A—9500 units, Process B—9100 units, Process
C—8100 units

Prepare the Process Accounts, assuming that there was no
Opening Stock or Closing Stocks.
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What is Budgetary Control ? Pomt out its objectives,
advantages and limitations. .
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- The standard quantity of material per unit and standard
price for producmg‘an item are as follows :

Material-X

Skg

@3 3 perkg

Material-Y

10 kg

@R 2 perkg

The actual quantity of material consumed and its cost for
producing 500 units are as under: ;

Material-X

2800 kg

Cost T 8,680

Material-Y

4800 kg

Cost T 10,560

Calculate the following variances :

(i) Material Cost Variance
(ii) Material Price Variance
(iii) Material Usage Variance

(iv) Material Revised Usage Variance

(v) Material Mix Variance
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What is differential costing ? Differentiate marginal and

differential costing. Explain the process of decision

making.
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The cost-volume-profit relationship of a company is
described by the equation y = 2,40,000 + 0.7 x in which x
represents sales revenue and y is the total cost.

Find out the following::
(i) P/V Ratio
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(ii) Production Bmk-evgq pemt
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will be the sales ?




